FAHAR—BEL = §3% 3/14
Integrating Minorities in the Classroom:
The Role of Students, Parents, and Teachers

Speaker:Krzysztof Karbownik(Emory University)
Commentator: R12323043 A £&4%

1 What is the question of the paper?
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2 Why should we care about it?
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3 What is the author s answer?
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4 How did the author get there?
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Appendix

1 Peer Effects Model
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1.1 utility funtion:

for student:
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for parent: ' ' '
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for teacher:
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1.2 education production function:
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2 Estimated Equation
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Scores;sew, = 1 + g %Indigenous
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